
Rishov

Why do we need R to be commutative to make
sense of evaluating f at a specific p-tuple?

Anunoy

What I feel like about the commutativity of R is that since
the underlying polynomials are from a polynomial ring over
the set of integers and we want to see the elements of
X(R) as elements of the kernel of some evaluation maps,
these maps must be defined as a ring homomorphism,
requiring the ring R to be commutative.


























































































































































































































